Vaja 3: Parni tlak
Meritev 1 (1,8):
	T / oC
	Pizm  / mbar
	P = Pz-Pizm 

	25,6
	822
	172

	30,6
	770
	224

	35,6
	708
	286

	40,5
	646
	348

	45,5
	544
	450

	50,3
	436
	558

	55,3
	306
	688

	60,5
	142
	852



Meritev 2(2,9):
	T / oC
	Pizm  / mbar
	P = Pz-Pizm 

	26,1
	806
	175

	30,6
	785
	228

	36,3
	694
	291

	41,3
	659
	355

	44,5
	533
	450

	51,3
	427
	547

	56,4
	312
	688

	60,5
	139
	869



Meritev 3(3,10):
	T / oC
	Pizm  / mbar
	P = Pz-Pizm 

	26,1
	838
	169

	31,2
	770
	228

	34,9
	694
	291

	41,3
	646
	341

	45,5
	544
	441

	49,3
	427
	558

	55,3
	299
	688

	59,3
	139
	852







Meritev 4(4,11):
	T / oC
	Pizm  / mbar
	P = Pz-Pizm 

	25,9
	805
	175

	30,9
	770
	224

	35,9
	722
	280

	40,9
	633
	348

	45,0
	555
	441

	50,3
	445
	558

	54,7
	306
	688

	59,9
	142
	852



Meritev 5(5,12):
	T / oC
	Pizm  / mbar
	P = Pz-Pizm 

	25,9
	805
	175

	30,9
	770
	224

	35,9
	722
	280

	40,9
	633
	348

	45,0
	555
	441

	50,3
	445
	558

	54,7
	306
	688

	59,9
	142
	852



Meritev 6(6,13):
	T / oC
	Pizm  / mbar
	P = Pz-Pizm 

	25,6
	806
	172

	30,3
	785
	228

	35,9
	722
	280

	40,5
	659
	354

	45,5
	544
	441

	49,8
	427
	547

	54,7
	312
	702

	59,9
	145
	869









Meritev 7(7,14):
	T / oC
	Pizm  / mbar
	P = Pz-Pizm 

	25,3
	822
	175

	30,3
	785
	224

	35,6
	694
	280

	40,1
	646
	341

	45,5
	533
	441

	49,8
	445
	558

	54,7
	306
	688

	60,5
	145
	852




